WEI-RVEBI 75, oN—2 Bk GH—40840 W5 IRV B 75 9A—2 Bk GH—43150
L m#®  |ssi00 BTy m#®  |ssi00
BxmaE |1-704y% BEmaE |o-s7nAy%
WEA(N) 4000 l: “ |lmEAMN)  [3000
- :
ﬁ N/EVERBE | — (‘6 MNoENEREE | —
~A—Z TSLUN—23 797 JBTu
vy VBT 5
S HE(g 385
07T GoEm) mm@ |06 caD EN)
GH—40840 GH—43150
1135 2—¢8.5
B6.5 @ YL I B3
W | —
. o | 2 - o
TEERT 2 === g
T 0 = _
14 / A 1
1206 MExP1.0/ 19 ,/:'
3 e
103.66 / =
I(’f_,{:i:__'- 3 g
. __.e* £~ ;'_ _j = { 2
i il = |l
T T * b
t |24
|16, 438 113.3
WE-RYEBI TS ON—R (B GH—43160 W5 SRV B TS IAN- Bk GH—431M |GH—431—SS
247 27 (ME2§ -1 $5400 U7y [+ % 55400 AFLR
BEmENE |1-s040% BEENR |1-s0AF -
-y |RENMN) 3000 PN G (N) 3180
O FEEA VIR [GH—5A—107515 ,_é,. NRVRBBE —
s 294 25Ty a’ <= ISLYN—Z
N — v uB 7y
#(g 385
E:'Dﬂ» HE@ |25 500
GH—431M _
GH—431—SS )
4—¢B.7 38
:I 2—¢6.3
oy = —
o] E& - a3
g
&) 68 | | N5
_ b - 25.4
“ __L/f,/' = 635 | | 19
EE::E/:@ = - 397
ke LR -
e : JY en U E
24 | ] 1 M5xF0.8
18|, 438 1133 t b (82.1)

) ERPOHEEA-—HEEB/TT.




